FIRST MID TERM TEST - 2022 .

' ‘Re
12 - st  matHematics - Ree LTI
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| PART - I _ PR AT
_ : Choose the correct answer o B TN 1= 10
1. If |adj (ad]A) | = |AI9, then the order of the square matrlx Aiisit PR
13 2) 4 ' 2 S LB
o _A'_.COSQ sin@ T ol 2t eis I |
?2. If : Wogno cosé and A (ad; A) ... Bl then K = . e
1)0 o2)sih e e _3)(:058._- - AV A

PR T R R O i
. 3. IfA= 15 and 5=/, | then ladj (AB)|=" . _
1) -40 0 e o 2) ~80 .k 3).560F .0 4) =20
4. IfAisanon smgular square matnx of order n, | then [adj A| _
1) At 2) |AIn | 3) |A|“+1, Can

5. The con]ucate of a complex number 1s ) then the complex number IS._

i i _2) B
6. 1f1z- 2+ 1) <2 then the greatest value of 2] Is
- a)3-2 ._-'2)J§+2‘ i 3)(2 '._4)J_+2
7. - If « and P are the roots of x2 + x + 1.= 0 then «2020 4 2020 js .
Coit PR e R 42
g 1000 4 {1001 5 j10027: 11003e 511 ¥ £ e S ool o
‘ 1) i : R [ T e300 4 ' gL B
9.. Azeroofx3+64is . .- B i R R R S S0
SR T BRI P T LAy AY. 4
10. Ifa, B-and y are the zeros of x3 + px2'+ qx + r, then -ZE is
) el M e s 3)— L Y T 5
PART - IT B ¥, :
Answer any three questlons Q No. 15 is. compulsory RS X.2=6:
' cosd —sind] B0 R '
- 11. Prove that smG cosa 15 orthogona! _.

12. . X + y = 3 2X + 2y = 6. Whether Cramers Rule can be used? lee Reason :

4
13 ‘AL 21 3 2i and 22 = 6 +4i Fnd % in the rectangular form
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14.
5.

16,
17:

18.
19,

20.

21

22,

23.

24.

Simplify : 11947 + j 1950,

Find a polynomial equatlon of minimum degree with rational coefficients, havin
2 - J_ 3i as a root. ' | '
PART - III
Answer any three questlons. Q.No. 20 is compulsory. ' 3X3=
| 8 4| ! . _
If A 54 verify that A (adj A) = (adj A) A =]A] L.
_ 1 2.3 "
Find the:rank of the matrix
13 0.5} . , |
If |z] = Zshowthat 3$|z+3+4:|<7 T o R SR oF, _
Write in polar form of the complex number 3 — ,J§ SRR @ Cr R A P

Form a polynomial equation wlth integer coeﬂ’icients Ji .asa roots. -

'PART = IV- poo, % g | -

Answerallthe questions. ' g s enti ud X 5.:2
a) Solve by Cramer’s rule the system of equations T gy Swnr o
X1 -X2 =3, 2x3 + 3x3 +4x3 =17, X3 + 2x3 =7 (OR)

.5 | : : (2z+1) -
b) Z = x + Iy is a complex member such that Im (iﬁ T 1\= 0 ., show that th
locus of zis 2x2 +2y2 + X -2y = 0. . . . o - f
a) Solve the following system of linear: equatuons by matrix inversion. method.e_-:,.
X+y+z-2=0; 6x-4y+52-31=0; 5x+2y+22-13 (OR) .
b) Find the cube roots of {3 34i . -

a) By using Gaussian elimination method, balance the chemlcal reaction equabo

CoHg + O =-> H0 + CO, (OR) :

. -1 .43 -1 V3

b) Show that the pomts 1 2 :—\/2: and ?‘—%- are. the verbces of a
equllateraltrlangle A e N g

a) Investigate for what values of A and p the systern of linear equatlor :
X+2y+z=7, x+y+Az=p, X+3y-52=5 has-
i) No solution. ii) a unique solution _iii) an infinite number of solutions (OR,

1 1
b) If cos o = x+— and2cos[3= J""'.; showthat

) '*i‘" 2°°5(“ ﬂ) ii) xy - - - 2isin (a + b) ¢ Sx
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